

第12回 答え

$$\text{II. (1) } a_n = 3 + 2(n-1)$$

$$(2) \quad a_n = (-5)^{n-1}$$

$$\text{Q. (1) } a_n = \begin{cases} 1 & (n=1) \\ 1 + \sum_{k=1}^{n-1} 4k & (n \geq 2) \end{cases}$$

$$= \begin{cases} 1 & (n=1) \\ 1 + 2(n-1)n & (n \geq 2) \end{cases}$$

$$= 2n^2 - 2n + 1 \quad //$$

$$(2) \quad a_n = \begin{cases} 1 & (n=1) \\ 1 + \sum_{k=1}^{n-1} 4^k & (n \geq 2) \end{cases}$$

$$= \begin{cases} 1 & \\ 1 + \frac{4(4^{n-1}-1)}{4-1} & (n \geq 2) \end{cases}$$

$$= 1 + \frac{4^n - 4}{3} \quad //$$

$$B_0 \quad (1) \quad a_{n+1} = 3a_n - 2 \wedge a_1 = 2$$

$$a_{n+1} - 1 = 3(a_n - 1) \wedge a_1 = 2$$

$$a_n - 1 = 1 \cdot 3^{n-1}$$

$$\therefore a_n = 3^{n-1} + 1 \quad //$$

$$(2) \quad a_{n+1} = \frac{1}{3}a_n + 2 \wedge a_1 = 1$$

$$a_{n+1} - 3 = \frac{1}{3}(a_n - 3) \wedge a_1 = 1$$

$$\therefore a_n = -2 \left(\frac{1}{3} \right)^{n-1} + 3 \quad //$$

4.

$$\forall n \in \mathbb{N}, \sum_{k=1}^n (3k-2) = \frac{1}{2} n (3n-1) \quad (1)$$

を証明。

$$\forall l \in \mathbb{N}, \sum_{k=1}^l (3k-2) = \frac{1}{2} l (3l-1) \Rightarrow \sum_{k=1}^{l+1} (3k-2) = \frac{1}{2} (l+1) (3l+2) \quad (2)$$

これを示す:

$$\begin{aligned} \sum_{k=1}^{l+1} (3k-2) &= \sum_{k=1}^l (3k-2) + 3l+1 \\ &= \frac{3}{2} l(l+1) + (l+1) \quad (\because \sum_{k=1}^l (3k-2) = \frac{1}{2} l(3l-1)) \\ &= \frac{1}{2} (l+1) \{ 3l+2 \} , \end{aligned}$$

(1) は $n=1$ で成り立つのを,

$$\left\{ \begin{array}{l} \sum_{k=1}^1 (3k-2) = 1 \\ \frac{1}{2} \cdot 1 (3 \cdot 1 - 1) = 1 \end{array} \right. , \quad (3)$$

(2), (3) より (1) は、証明される $\square$